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Please check whether you have got the right questmn paper 3 |
N.B: 1. All questions are compulsory.

Q.1 A) Multiple choice questions (Any eight) C S NF '_-‘ - 08
1. Target cast management is S PTESS
a) A management technology to establish a cost target
b) A structured approach for determining cost TAS
¢) Both of these = Fa R
d) None of these
2. The type of process loss that should not affect the cost of 1nventor1es is
a) Abnormal loss ' _
b) Normal loss ~E FEES R O AT
c) Seasonal loss ' ' '
’ d) Standard loss SV SR
- 3. Incostaccounts stock are valued P ol o
har a) Cost
b) Net realizab

d) Estimated cost L)
4. Serwcecostmgxs NS :
a) Costing; techmques £
b) Costlngclassiﬁcatlon R
c) Cosﬁng methods S
d) Gﬂstabgpnptiénmaghod

5. The cost pools and cost dr1vers are us{@fﬁn indirect costs to

, a} Cost un_:ts
0/ :
X a) Va“rmus ledgersrélaung to one another

v‘-__A sepaga;e,seg oﬁﬁn‘anmalleﬁgers and separate set of costing ledgers
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8. Profits related to new product in its introductory stages are
a) Negative
b) Continuous rising
c) Higher
d) Declining
9. Material handling in the life cycle is
a) Operation cost
b) Initial cost
¢) Acquisition cost
d) None of these
10. Appropriation of profit is in qpstiacqo_unt'_s.'
a) Included ' |
b) Not included
¢) Considered
d) Separately shown

(0.1 B) State whether the following statement are true or False (Any seven) 07
1. Canteen uses number of beds as cost umts
2. Logbooka aily: log sh "et are one and the same. :
3, Integral ac hmmate the necesstty of operatmg cost ledger control accounts.
, &x
S

Loss on sale o ta aSSebls not mcluded in accounts unider integral system.

The techniqu.e?us :aluatlon of performance efficiency, costs, profits etc. of firms

C s 1s called mterfu'm comparison.

producmg same type '_
A, The document in wntmg a .p't by trade assoc1at10ns or by undertaking the Uniform

costmg is called Uniform costyy
7. s Werk in progress accounts ‘make§c ledger self—balancmg

8. Servu:e costmg is not used in hospltabs/
= :_;1.é,ﬂThe Non mtegrated accounts, no persondl acgbunts are kept but the transactions
AP affectmg the nommal aqcounts are recorde

of amest _":Qrkers are debited to stores ledger control accounts in

& "10 Non pnoducme tlmE;\
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Q.2 Razor Ltd. keeps books on Integral accounting systen. Transactions for the month of 15

: August 2016 were as under : : ' TS
[ a) Raw material purchased form Ajay and Co. (50% on credit) 5,00,000.
r b) Depreciation on Machinery 30,000 e U
¢) Costof goods produced 4,00,000
d) Manufacturing overheads payable 20,000
e) Return of Indirect Material to store 1,00,000
f) Sales (30% on cash) 8,00,000
g) Material returned to Sanjay and Co. from stock 40,000
h) Cost of defective work taken out of procg'ss__lZ0,00{) _
i) Purchase of truck from Azad ltd (75% on credit) 1,00,000
j) Loan from Axis Bank 6,00,000
k) Cost of goods sold 6,00,000
‘ 1) Receipt from Ajay 50% of the

You are required to pass journal entries in the

2016.

amount by cheque
‘books of Razor Ltd for the month of August

; . y OR
Q2  Light Limited opens#ie W H‘ffiie‘,B.alé;kﬁcés";._l;"_rd__gn’th__g. following information, 15

ou are reg uired to

Transactigﬁ_sﬂﬁfi@g{tbey;e:?.f.a:sff;ﬁ:‘!l'ﬁ'@ <

®

: @o@\ggé“@éfa?&ﬁ}:fﬁaﬁpﬁéﬂ‘to production a
¢ H@T%edbﬁe;ﬁe@&b@ﬁéﬁa rried forward for
Seltingand gdgiin‘?gff‘ﬁéﬁ expenses are treate
: Qﬁﬁ_{so?,thamenmm which they are incurred.

t 150% of direct wages, any under / over
adjustment in the subsequent months. All
d as period cost and charged off to the Profit &
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Q.3 From the following information relating to Process' Q. 15
Prepare the Statement of Equivalent Production, Statement of Cost, Statement of Evaluation
and Process Account and Abnormal Loss/Gain Account. (FIFO'Method)
a) Opening Workin Progress-4000 Units
Degree of completion -

Material -100% . Rs, 23,000
Labour - 60% . Rs. 11,240
lOverheads - 60% - Rs. 8,380

b) Received from Process ' P'- 40,000 Units for Rs. 1,72,800
c) Expenses incurred in Process 'Q' during the month -
Material -Rs. 81,000
Labour -Rs. 1,35,720
Overheads - Rs. 67,860
d) Closing workin Progress - 3000 Units -
Degree of completion -
Material -100%
Labour -50%
Overheads -50% :
e) Units Scrapped - 4000- umts
Degree ofcompletmn SV B S

Matefial -100%
Labo
QOvefhe
f) Norm
g) Complet
Q.3 A certain product passest_ f three pre efore it is transferred to finished stock. The
following information is obtaine  the month-of March 2017
T Partlculars =% % _| Process| | Process1l | Process anshﬂ
A i O e N L 111 Stock
l_pensngstock NS 209000 | 24,000 16,000 60,000 |
 DirectMaterial — & As5p00| 40000 65,000 = |
| Direct Wages N : 5.0 32,000 27,000 -
A Production Overheads _' : ' 2 0 12,000 80,000 --
R Glosmgstock T .| 10,000 12,000 | 8,000 30,000
AP S PrqﬁLon cosj;of each groﬁqs& 33%% 25% 25% -
o Sty ;\. lntét’\pr'oceS,Sproftfqbopenlngstock -- 4,000 4,000 22,000 |

o
D QLKA

o 8

_vaﬁ.tea at prime cost and finished stock has been valued at price at
i e;d,ﬂ'f)m process 11 Sales during the period were Rs. 700000.

iia bg‘\. By

Ptepgfé Proéé“é&ﬁédqﬁnt and Finished Stock Account showing the Profit elements at each
S g e*and’Actual:Beﬁlized Profit.
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Q.4 Mr. Aryan runs a Holiday Inn Hotel which has 40 rooms. During summer season rooms TS
are occupied to the extent of 80% and during winter season oceupancy is 60%.
The following costs were incurred during the year ended 315t December 2015.
Salaries to staff 6,00,000
Rates and Taxes 5,00,000
Sundry Expenses 80,000

Electricity charges

Summer Rs 5000 per month
Winter Rs 2000 per month

D e

Building 3,60,000
Furniture 60,000
Equipments 40,000

Room attendant is paid Rs 50 per day when room is. ‘occupied.
Ascertain the amount to be charged per room per da)rlf profit expected is 20% on takings.
Summer is of 8 months and winter 4 months Assume a month. of 30 days.
OR
Q4  Kruti owns a fleet of gaxis an__'c_l-"t_h'é_.fg.l'l_d'@ihjig.'iLn'fofmg'ti.on"is. available from his 15
records LS
No. of Taxi
Cost of each taxi
Salary to Manager
Salary to Accountant
Salary to Cleaner- -
Salary to Mechamc '
Garage Rent
Insurance: Premlum

: 10

~ . Rs:30, 000

Rs.750 per ‘month

Rs.500 per month

-Rs.200 per month.

" Rs:450 per month
Rs 650 per. month

P ca per‘ annum

Annual Tax 600 per taxi
Driver: sa}a_ry ! ‘per month per taxi
AnmzalfRepaLrs 300 par taxi

Whi&ﬁ“?ﬂ%it runs empty. Petrol consumption is 0 e for 10 km @Rs.49

. \(H]‘-:&‘oth,er sundi'\ies are, Rs 7.per: 100 km
3 ;Cale‘ﬁhte cost-of runnmg a taxi per km

Ta‘tqflﬁg'mfa taxi 1s about 2 ~14 0001{111 A tax1 011 3,000 km in a month of

Q)‘ _Uef ne-uniform costmg and state the important features 07
‘," H\bj sttingmsh h‘étwee\n m‘tegrated and non-integrated system of maintaining accounts? 08

OR

Q"
)3‘.)\

hﬁteﬁ 9n (Any three)
vesrt{fmﬁer -firm comparison
ntaggs 6E Noﬁ mtegrated system of accounts

15
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